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Question Number : 1 Question Id : 5244765401 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dinosaurs existed during:

BSEED &) DeNOHOS Erar) 00?

Options :



1. Palaeozoic era

OB ons aswiio
1. %
2. Mesozoic era
DS 01T cinio
2. %
3. Tertiary era
eho)edaH O3NKO
3, %
4. All the above are correct
05 DB
4, %

Question Number : 2 Question Id : 5244765402 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which was the first horse in older era:

BPRS AN oacse3 K|S0 BHo?

Options :

1. Merychippus

. ENVOIANARYS
1.
2. Equips
28 £
2. %
3. Eohippus
TOVIFO RS
3. ¢
4. Mesohippus
L PNV LORTS

Question Number : 3 Question Id : 5244765403 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Most of the are equivalve and inequilateral valves.

S’ DF02,65 270 DATSIDS HOOEN @ISTS EaeTen.

Options :

1. Lamellibranchia

SVDEVeTAles
1.v¥
2. brachiopoda
ARAOVK VR X
2. %
3. gastropoda
s
3. %
4. Ammonites
. SO
4.

Question Number : 4 Question Id : 5244765404 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Patella 1s a genus that belong to class of phylum Mollusca.
DB @I IO BVEY 3538 TOAS 2.8 2ed.
Options :

1. Bivalvia

i 236 O3

1.
2. Gastropoda

tvE ey

2. % i
3. Nautiloidea

. I e3S 0BT
4. Ammonites

. RUIISTAN

Question Number : 5 Question Id : 5244765405 Display Question Number : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In brachipoda the larger valve is

LTDTTE S €5 DR Eae07?
Options :

1. Pedicle valve
2HEO Ea0eHo

2. Brachial valve

27I0DO Eae0
2. %
3. left valve
. DG €0

4. right valve

S0 80

Question Number : 6 Question Id : 5244765406 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pygidium is a part of clade

DBAOHO0 TES' 2.8 2o

Options :

1. Mollusca
20T,

2. Trilobite

1 BeS23¢5
2. ) =
3. graptolite
gVl
3. %

4. echinoidea

DSBS

4. %



Question Number : 7 Question Id : 5244765407 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mamimals appeared in time period
§ Bcren O 06 EAD0TON

Options :

1. Permian

- AIeIIOWIN
2. Jurassic
A OM 1)
2. 8
3. paleogene
i R DIONEATS]
3.
4. Silurian
\ 2ENBAN®

Question Number : 8 Question Id : 5244765408 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The foraminifera found in polar regions is

10D [roeeeS DO TP DO®

Options :

1. Globigerina pachyderma

FHBBS HIRES)

1.¢
2. Globorotalia truncatulinoides
0SS Ferdasr (€050 STand)
2. %
3. Pulleniatina obliquiloculata
HBASTEIT €38 g3 doerey
3. %

4. Globoquadrina conglomerate
A5 gl e Sa302%50

4. %



Question Number : 9 Question Id : 5244765409 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Age of Precambrian- Cambrian boundary is:

(250D ADS-ZODTNS HOITEY asniio:

Options :

1. 542 ma
1. ¢

2. 540 ma
2. %

3 251 ina
3. %

4. 255 ma
4, %

Question Number : 10 Question Id : 5244765410 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

First life appeared on earth. nearly
25702 B0¢E3 22550 EANOD0E)., TCTa) T ?
Options :

1. 4.5 bya

1. ®

)
hn

bya

-
i

(5]

. 600 mya

4. 500 mya

4. %

Question Number : 11 Question Id : 5244765411 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the time unit with rock unit;

0°ed ORTFAES DD OHTEI S DB YO &:

Time Unit Rock unit
HANAH O Tred O
P. ERA 1.SYSTEM
oo :35:3‘6)
)
Q. PERIOD 2.GROUP
SPO0 AaAI®aI°0
R.EPOCH 3.STAGE
2E 3%
S. AGE 4 SERIES
AGE Falobrs!
Options :

1. P-1.Q-2. R-3. S5-4

1. ®

2. P-4, 02, R-1,5:3
2. %

3 P04 R483
3.

4. P-3,Q-2,R-1,8-4
4, ®

Question Number : 12 Question Id : 5244765412 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one among the following is a lower gondwana fossil?

8§08 ¢3S OMS FoE s FeX230 EO?

Options :

1. Mastodonasaurus

ST E D



2. Glossopteris
FF RO

2.

3. Pullophyllum

. PTATORR DI
4. Nissonia
. QP ) OST
4,

Question Number : 13 Question Id : 5244765413 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ordovician period was named after a:
B30 DNOANS 0 DD Lod T°eS° BATT° DRDEBOE:

Options :
1. Place
- DO
2. Tribe
vo B0
3. Rock type
- oved 350

4.  Geologist
25ef B a3

4. %

Question Number : 14 Question Id : 5244765414 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The smallest division of geological time scale is:
2 TRE DO [DNTEI0 AINE) @3 D) DIe3d:
Options :
1. Eon
| % OV



2. Era

. o Wigle
3. Period
S 0
4. Epoch
BEOD
4.9

Question Number : 15 Question Id : 5244765415 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Salkhala Group is overlain by:
HEFEer |11 A e 0° D)2 GOd:

Options :
1. kamlial fim
- EDOIFO D Dodadd

2. Dogra slate

S| e
2. )
3. dhokpathan fin
R0 1 R R By
3.
4. nagri fm
L SHo DRI

Question Number : 16 Question Id : 5244765416 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Geological Time Scale (ICS 2009) contains:
2037 r228S Ten O (ICS 2009) 3 EOA &oOd:
Options :
1. 2eons
L% 2080mre



3 OMPeY
2.
3. 5eons
5 gmPe
3. %
4. 7 eons
7 Q3DTeY)
4, %

Question Number : 17 Question Id : 5244765417 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Glossopteris is a plant fossil known from the rocks of:
TR0 200 300E) TR0 & 30 NG BOVIO?:
Options :
1. Upper Gondwana
DS o s

1. %
2. Middle Gondwana
. 0§ o s
3. Lower Gondwana
&S o o
3. ¥
4. Rajmahal Inter-trappean Beds
02360870 ROCID-EFFD0NN &)
4.%

Question Number : 18 Question Id : 5244765418 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find odd one out:

80O VS JIAGEDIE?

Options :



1. system

ENIENDY
1. ®
2. group
DoT%I°O
2. %
3. stage
- 5%
4. era
v oo

Question Number : 19 Question Id : 5244765419 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fundamental unit of chronostratigraphic classification is:

ES | TS HSQEG gy (HOE 0ES:

Options :
1. erathem
DT o)
1.
2. stage
2. ¢ AL
3. series
. 39
4. system
NI
4. %

Question Number : 20 Question Id : 5244765420 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which 1s the youngest era in the geological time scale?

B3rerREO T 3OS @963 D) aSNH0 DE?

Options :



1. Precambrian

(D50 ONS

2. Mesozoic

. DS ons

Cenozoic

Le  RSE oS

ad

4. Paleozoic

PR IOMNWIEARO WS

4. %

Question Number : 21 Question Id : 5244765421 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct chronostratigraphic sequence of the Siwalik Group from the following
(Oldest to youngest):

80 °¢3 0& DAE (5D TBWEY, DB (B | eSS (857, 1HO0ow0H
(D) O D) SBBL):

Options :

1. Pinjor-Nagri-Dhok Pathan-Tatrot
D0EB-07A-E8 DTS-

2. Nagri-Dhok Pathan-Tatrot-Pinjor
SF-E8 HTR-Lr|¢5E-2083°0

2.¢

3. Dhok Pathan-Tatrot-Nagri-Pinjor
£ HTS-eESE-A-D0E O

4. Tatrot-Pinjor-Nagri-Dhok Pathan
e ES-008 5-°B-65 DTS

4. %

Question Number : 22 Question Id : 5244765422 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which combination of geological entities occurs in the same craton?
2.8 5SS &) 2TTRE e00a e Eer008 DB )CRB0E?
Options :

1. Chitradurga schist belt-Closepet Granite-Hatti gold mine

DHENY 2R BO-825 D (PRES-57¢3 20rSd 3

2. Bhilwara Supergroup-Sitapundi anorthosite — Zawer Pb-Zn deposit
ex s0° SEHDHFR-0E)0 9T 6 - 2730 Pb-Zn B¢

2. %
3. Kolar schist belt-Malani rhyolite-Malanjkhand copper deposit
Ferd @ BO-0er BFBTBES 50025 POG 0°A DI HO
3. %
4. Mansar formation — Makrana marble -Sukinda chromite deposit
L S0°)0 ATEA0 - BD® alPOTAD - N0 (T A2

Question Number : 23 Question Id : 5244765423 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following mineral deposit is formed exclusively by surface geological
processes?

806 363" O DA VB0 (DBFEOTT €5OHO 2T HE |9 80HE & 5o
DB 0E?

Options :

1. Wollastonite

SerFIES

-2

Asbestos

PR
2. % 2 8y

Corundum

§°%0850

4

3. %

4. Bauxite

288

4.



Question Number : 24 Question Id : 5244765424 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the highest rank of coal?

806 ¢3S’ &) TP eochsOE areaged EH?

Options :
1. Peat
5
. D&
2. Lignite
AME
2. % =

-

3. Bituminous coal

Densdry  STH

3. %

4. Anthracite

80| &
4.4

Question Number : 25 Question Id : 5244765425 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Following is also associated with brecciated Iron Ore Copper-Gold (IOCG) deposits:
&2 1808 36T DO |IB0TTE DES 4.0 2HD-AS (10CG) B2
NITAOIATOIAINIAT

Options :
1. Uranium
ANVRCHO
1.
2. Molybdenum
SO0
2. %

-

3. Fluorite

206



4. Zinc
2208

Question Number : 26 Question Id : 5244765426 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Major Al-deposits in India are associated with:

2P STTFOS Q) (DG €95 S0-Bar22Y F0 HODOOODIE:

Options :

1. Gondwana rocks
oG §oe 3eren

2. Archean rocks in Singhbhum

0NZFE R €38),.0H Beren

2.¢

-

3. Vindhyan rocks

- DO FOHeN)

4. Khondalites along east coast of India

2 BHTIE AP B0 oA €5d) S OB

Question Number : 27 Question Id : 5244765427 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these 1s an ore muneral of lead?

DS D0 WNE),. D0 DE?

Options :
1. Galena
v mTeo°
2. Pyrite
2B
2. %
3. Wolframite
S0P

3. ®



4. Cubanite
SVIEARS{A)

Question Number : 28 Question Id : 5244765428 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is a magnesium carbonate ore?
De3eS” DAY NCHO ENTE BIRO DE?
Options :
1. Pyile
206

2. Malachite

SDEFTE

2. %
3. Rhodochrosite

EE 15

3.¢
4. Pyrolusite
i DTV

4.

Question Number : 29 Question Id : 5244765429 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these rocks could be an important source of diamonds?
180& 20365 DA H(23e> TBNEY, SVPFIS 0THO?

Options :
1. Komatiite
§50°¢3
1. ®
2. Gabbro
- s’

(W ¥]

Eclogite
DEBE



4. Kimberlite
§022B¢E

Question Number : 30 Question Id : 5244765430 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Malachite and Azurite are characteristics ore minerals of;

HEFBE S0O05D 92383 @D T pAeren?

Options :
1. Gossan zone
. HSES
2. Zone of oxidation
238318080 &S
2.
3. Zone of supergene enrichment
HFHOS 0D0DG) b
3. %
4. Protore
(¢SD
4. %

Question Number : 31 Question Id : 5244765431 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mineral often referred to as ‘Fool’s gold’ is:
BB '*O ) D' 1T S OLIDT DZO:

Options :

1. Pyrite
2865

1.¢

2. Magnetite
STy Baed



3. Chromite

SDE
3 0%
4. Tlmenite
ISP ESILN)
4, ®

Question Number : 32 Question Id : 5244765432 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Economically recoverable quantities of each resources are called:

Q50 380 PO IS A3NEY DOITET°IN o) OLFEN?

Options :
1. Reservoir

B30 50O

1. ®

2. Reserves
s OOSED

-

3. Resource

e DB
4. Stuff
9D

4. %

Question Number : 33 Question Id : 5244765433 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Term not related to a volcanic event 1s

806 TS DE ) NS ged DONEISE HODOEODD HAO T°¢N?

Options :

1. crator

Elate

1. ®

2. cavern

(a3

2.



-

3. caldera

STalex

3. % =
4. conduit
,x o8

Question Number : 34 Question Id : 5244765434 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Siderophile 1s the term used for element whose affinity towards:
80 & OO @00 A DBE DS §H0 GHTrATH?
Options :

1. silicate phase

T ¢4

1. ®
2. sulphide phase
L NSRIEXAL
3. metallic phase
ey 5%
3. ¢
4. atmosphere
TEN OO
4. %

Question Number : 35 Question Id : 5244765435 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

volcanic equivalent of granodiorite is:
PSR BEIE DTS e0f) DB 550
Options :

1. dacite
L TS

2. trachyte

1L



3. latite

3 DEALA]
4. rhyolite
. BATSE

Question Number : 36 Question Id : 5244765436 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Plutonic equivalent of basalt is:

DS E0 DAFIS JETS:

Options :
1. gabbro
&
e T
2. granite
S0
2. %
3. syenite
IS
3. %
4. diorite
HBDE
4. %

Question Number : 37 Question Id : 5244765437 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Texture in which replacement of pyroxene or amphibole by biotite takes place:

DFBIS Beow ASronS S TP T 507 250 T e38yed:

Options :

1. Uralitization

SO IDEAZIA TS

2. saussurtization

& BBAS



3. biotitization

ATOVTATA TSP TS
3.
4. seritization
L% ?\}@@ﬁa’lf}

Question Number : 38 Question Id : 5244765438 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Clues to the nature of the source area of sediument can be found in
29593 DO TBWEY 07 [2I0H0 TNEY, K 52773208 HOVOHOND 35T eI
BAS EQDION?

Options :

1. sedimentary structures
€993 D DT°ETeN

1. ®
2. rounding of sediment
€953 DO THEANEIBO
2. %
3. the composition of the sediment
» €93 N0 TWEY. H°0)
4. all of the above
DI
4. %

Question Number : 39 Question Id : 5244765439 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following choose which is not chemical or organic sedimentary rock?

808 e3¢5’ TES B &TIE 953 562 O 57D DE?

Options :

1. limestone
QA )TOW



2. gypsum

. 22020
3. rock salt

. B3 G5))
4. shale

4.

Question Number : 40 Question Id : 5244765440 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rounding can be defined as
B 0B0NQ QP A LI0TIHTN)
Options :

1. atype of mineral

2.8 B85S Q20

1. ®
2.

2. the abrading away of sharp edges and corners of detrital rock during transportation
BeT® HDANOCS” TI(E3EIS Fe> TBNEY HENS E0THEN sDBOIN
OO SOR0THSO

a grain in a spherical shape
o5 e3se0eS 2.8 P50

ad

3. %

4. none of the above

ade) 5N

Question Number : 41 Question Id : 5244765441 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following which isn’t a sandstone type?

806 3735 DO JNET O BEO 5°¢H?

Options :



1. quartz rich sandstone
e0HE 5230 €55) ANETOW

1. ®
2. coal
STH
2.¥
3. greywacke
RS
3. % -
4. arkose
87
4.%

Question Number : 42 Question Id : 5244765442 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Snow ball garnet is a result of

&) 2O FanOE0 B HOH07?

Options :

1. syn-kinematic deformation

DR-33637¢38 BB

1.
2. Post — kinematic deformation
S - 8AS37¢38 BrDAN
2. %
3. Pre- Kinematic deformation
(-80:57°¢38 BrDINS
3. 0%
4, none of these
D365 DA SR
4, ®

Question Number : 43 Question Id : 5244765443 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Near subduction zone the high possibility of getting metamorphic
facies.

DPES B HHOS’ FEFIPONE DO OB 055750
)80 T E5OLNOR.

Options :

1. Blue schist
AVENIEN

2. Eclogite

DSBS

3. Granulite
[TPOFBE

4. Green Schist

A 23

Question Number : 44 Question Id : 5244765444 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a metamorphic terrain, crenulations at the hinge zone of a fold along with the
development of axial plane foliation is an evidence of

e85 25rerriocS, e S scsed 5 (H0FBAS) @8 D000 DS
SFOTHAN 0NIYDS aren BS1c0 B I8 507

Options :

1. omne phase of deformation

2850 O3S, 2.8 &4

2. at least two phases of deformation

SEe>50 TEY A0 Bock cd¥en

2.¥

no deformation
J850 SN

T4



4. extensional regime of the deformation

S380>50 QS FPRA0) TP

Question Number : 45 Question Id : 5244765445 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Foliation may be developed in

208 TS PFOTHAS 9D BEDHIE?

Options :

1. 1gneous rock

efl) 2
1 %
2. metamorphic rock
B0%r0ed s Fed
2. %
3. sedimentary rock
i 93D B
3.
4. all of the above
FLSEAN)
4. ¢

Question Number : 46 Question Id : 5244765446 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Interlimb angle of gentle fold 1s

0 D Scded TBNEY 20008 §eao

Options :

1. 130°
1.¢

2. 110°

3.90°



4. 100°
4. %

Question Number : 47 Question Id : 5244765447 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When the maximum principal stress axis 1s vertical, the kind of fold generated
KO DTS 2,3 €98 0 DN E5:9) )N, E5ed 1 eodDg soched $E0?

Options :
1. Thrust fault
(DR Y
1. ® -

2. Gravity fault

e 80 PO
2.¥
3. strike slip fault
R SSORSSE )
4. we cannot say
L EARWERFOR[BEVW

Question Number : 48 Question Id : 5244765448 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Klippe is a structure in which Klippe
8oy D070 S §) IE
Options :

1. younger rock surrounding older rock

areb 3> TN D) TrOW

2. older rock surrounding younger rock
DAY O TN Ed) 2J°ed TPON

2. %



3. elevated region is surrounded by less elevated region but both are of same age

JOITE [2POB0 680365 DS 53 (POBOS THENSDEI2EB
GOLNOE 5% Doy 2.8 A% &S &) om

3.
4. formed by folding
S @0 DBNAIE
4. %

Question Number : 49 Question Id : 5244765449 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fault associated with MOR
MORE 90200V 57

Options :
1. Transform fault
A0S 7S
1.
2. reverse fault
B50) Y
2. %
3. normal fault
. IO PO
4. listric fault
O N8 arQ
4, %

Question Number : 50 Question Id : 5244765450 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A thrust fault is:
(D 3D @IE:
Options :

1. anormal fault with fault plane at < 45 degree

<45 B 5O TG VIS O >

1. %



2. A normal fault with fault plane at. > 45 degree

> 45 &0en QD T DS B .

2. %
3. Areverse fault with fault plane at < 45 degree
<45 B D D VIS BB 7D
3.¢
4. A reverse fault with fault plane at > 45 degree
>45 B 5O O VIS 050 TPV
4.%

Question Number : 51 Question Id : 5244765451 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bedding fault is a special type of:
BEON O T W), (HB5E B80?

Options :
1. Strike fault
(R rQ
1. v =
2. Strike-slip fault
[ E-0D O
2. % e e
3. Oblique slip fault
i DEITEN VD 3O
3.

4. Dip-slip fault
BD-2D QY

Question Number : 52 Question Id : 5244765452 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the primary structure:
@S QT Bowodk:

Options :



1. Bedding plane

BRON Y
1.
2. Cleavage plane
835 s
2. %
3. Fault plane
TR 2D
3. %

4. Joint plane
300 DS

4. %

Question Number : 53 Question Id : 5244765453 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If hanging wall is moved down. then the fault is:

3RCERD) FE) BORE SBODODIIONS, €8 TP ) )eNOLTH?

Options :
1. Normal
P06
1. ¥
2. Reverse
8:50))
2. %
3. Strike-slip
[ 5-0
3. & =
5. Indeterminate
293 )50
4, %

Question Number : 54 Question Id : 5244765454 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The largest zone of Earth’s interior by volume is the
TPOTE) [D5B0 25T S 0O 2rH0S o 203 5'D?

Options :
1. crust
(==
N
] ®
2. mantle
Sroe3o
2.
3. outer core
2°%53°5 §°0
3. %

4, 1inner core

0e50eb 50

Question Number : 55 Question Id : 5244765455 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The boundary that separates the crust from the mantle is called the

3703 0B (KD S TR DOV DINOETED?

Options :
1. lithosphere
OEVOHD
1. %
2. asthenosphere
- 29 S R )NO
3. Mohorovicic discontinuity
S rOS discontinuity
3.¢

4. none of these

NTARSIAY



Question Number : 56 Question Id : 5244765456 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Oceanic trenches
QDod| ) SOLTEN
Options :

1. are narrow. deep troughs

BHES, SBS STV

2. run parallel to the edge of a continent or an island arc
2,8 MO0 B B $D0 AWB0EY ©90TNZ DATOAHBOMT SN0

2. %
3. are often 8 to 10 kilometers deep
SETINT 8 0GB 10 8IS SeheS S0Lrom
3. %
4. all of the above
DAY
4.

Question Number : 57 Question Id : 5244765457 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A hypothesis that suggests that the sun and planets, including earth have formed from a
disc shaped rotating nebula. Name it.

P D3 DTG5 HOCSH (%0 B e35°80S 8T Tanser ok
DB ONA) PO DOEE IS TBNE) DH?

Options :
1. Nebular hypothesis
22050 DOZ NS

-2

Planetesimal hypothesis

FPTANS DL



-

3. Binary star hypothesis

B350 D HBEe> )b
3. %
4. Gaseous Tidal hypothesis
i 5 TGO HOZE Y
4.

Question Number : 58 Question Id : 5244765458 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Size and Shape of a dunes is controlled by

£23)© HOHXFEI0 DB e85°H0 D QONO|E30TIDCRIBHOE.
Options :
1. Loess

2. Increased load

2005 S&
2. %
3. Rain
wx 990

4. Velocity of Wind
) S50

4. <

Question Number : 59 Question Id : 5244765459 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Loess deposits in Mississippi-Valley are called as

0IJ2ID)-S AN €0 Bare2edd 90T,
Options :
1. Zeugen
s 237°523
2. Adobe
0325

2.¥



-

3. Corrasion

Ko
3. %
4. Ripples
A eOCHeN

Question Number : 60 Question Id : 5244765460 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Si:0 ratio of forsterite is

5. D¢ TwEy, Si:0 A

Options :
1.1:4
1.v¥
2.2
2. %
,x 313
4.4:11
4.

Question Number : 61 Question Id : 5244765461 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The S1:0 ratio of Quartz 1s

5°¢D_ A30E) Si:0 DA )ed
Options :
.14

1. %

b AU o 2
2. %

3. 12
3. ¢

4.4:11



Question Number : 62 Question Id : 5244765462 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Crystal having all axis equal and mutually perpendicular, belongs to which crystal system?

Q) WZEN DAFIOTT DO DBHYB0 ODOMT GOT 18O @ (8D

S5V TOAIE?
Options :
1. Isometric
D38
1. v

2. Hexagonal

- A6,
3. Monoclinic
S ED5
3 % ;
4. Orthorhombic
) 852085

Question Number : 63 Question Id : 5244765463 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the crystal 1s uniaxial anisotropic mineral,

583570365 DD CRTrAOIPEIOHS eoJNE DT P20,

Options :
1. Quartz
5e e
I\f DSE.JE%
2. Garnet
WaLle
2. %
3. Pyroxene
AN
3. %

4. diamond
B0

4. %



Question Number : 64 Question Id : 5244765464 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the crystal is 1sotropic mineral,

80O HHE3OS DA DFETNHE D20,

Options :

1. Quartz
L SSR.

2. Garnet
- SVALI®

3. Pyroxene

RN

3. %

4. Beryl
L BOO

Question Number : 65 Question Id : 5244765465 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pleochroism is observed in

T3PS ONBO &S’ BOA0TIEE0E.

Options :

1. biaxial mineral

203578 )OHO P30

2. uniaxial mineral

D& A0

3. 1sotropic minerals

DS DT PN



4. hand specimen

ed drar

Question Number : 66 Question Id : 5244765466 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Biaxial mineral which is optically negative, its acute bisectrix is

SISO D3 &0 22058 )0NS D230 TBEY B[S B 8DC?

Options :
1.X

1. ®

2

¥

L

4d

4. cannot say

SH)ES0

Question Number : 67 Question Id : 5244765467 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of optic axis in uiaxial minerals 1s

A0 AIFENTHNS DAFOS’ GOT &DE 95 HOWS?

Options :

1.v

ad
(')

4.4

Question Number : 68 Question Id : 5244765468 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A cube has mirror planes.

2.8 855 BB RS EOR E0LNOH.

Options :
kb

1. ®

- 2.9

Question Number : 69 Question Id : 5244765469 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A cube has numbers of 2-fold axis.
2.8 §°ged A30E) 2-0EY €950 QODSEN D) ?.
Options :

1.6
1.v

2.9

[am—
-2

4.4

Question Number : 70 Question Id : 5244765470 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ability of a mineral to break along preferred directions is called

IPES5E OFE) FOL DYDY 0 T DA DT o) 90ETB)?

Options :
1. fracture
o
" DHEN



2. crystal form

0)e38 Sd0o
2. %
3. hardness
. Si{onvIfe
4. cleavage
AR
4.

Question Number : 71 Question Id : 5244765471 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which 1s not silicate structure

DA VETE AR0EY AT°90 5N

Options :
1. phyllosilicate
i DSDOBE
1.
2. Inosilicate
QAVYOTE
2. %
3. pentasilicate
Lo 20erROBE
4. phyllosilicate
i DS ETE
4.

Question Number : 72 Question Id : 5244765472 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Plagioclase belongs to the silicate system
ST T DA 2 VOTES 553080 TOONIE?

Options :

1. Orthosilicate

esTVEOTES



2. Tectosilicate
Le  BERIBS

mosilicate
L. DSVOIES

LS ]

4. Phyllosilicate
DS DOTBE

Question Number : 73 Question Id : 5244765473 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

2(MgSi120g6) 1s the chemical formula of

2(MgSi:06) 956 TR DINEY, BN P[50

Options :

1. Enstatite
Do)

Ja—

2. Forsterite

b
Le ONDE
3. Fyalite
286
3. %
4. Augite
esied
4.%

Question Number : 74 Question Id : 5244765474 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Garnet belongs to the silicate system

FDAE0 ) VOB 559050 TOAIE?

Options :



1. Nesosilicate

DFDTE
1.
2. Sorosilicate
AT DT
2. %
3. 1inosilicate
fo
- 0 )
4. Phyllosilicate
i S OES
4.

Question Number : 75 Question Id : 5244765475 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Interference pattern of a mineral can be observed under

208 MAB0 O3EY 9538589 ST° ) DR TP 50° (1500 IITNY?
Options :

1. unpolarized light
1E0DGTI2CA 503

2. plane polarized light

Lk 20 (eI S0
3. cross polarized light
Lo BR(C0H0 BO

4. hand specimen

e T aTor

Question Number : 76 Question Id : 5244765476 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The bonding between C1 and Na in halite 1s
35S’ €1 s0B0M Na 0855 D00



Options :

1. ionic

90308

-2

covalent

DRI OD

metallic
. S

)

3.

4. magnetic

€90 O

Question Number : 77 Question Id : 5244765477 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Amphibole belongs to the silicate system
ASPONS'O A &) DETE 5353050 TOAIE
Options :

1. Orthosilicate

sGAOTE

2. single chain silicate

& )08 DTS

double chain silicate

&3 4908 DOTEH

4

3.¥

4. Phyllosilicate
HS VAT

4. %

Question Number : 78 Question Id : 5244765478 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The standard for computation of carbon stable isotopes i1s

)R VIR DFETD © ANEY (TSRS AN ) Q B 09ENE FC0ID?

Options :

1. VSMOW
1.

2. BEDB
2.

3. both
. DOy

4. none of this

ox B3 5

Question Number : 79 Question Id : 5244765479 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

¥0:1°0 is highest in which of the sample
80O SrrredeS 180:10 eoehsHE0 e EODAIE?
Options :

1. water sample drawn from dead sea

5398 DAV 0B 3 HE3 S

1.
2. water sample drawn from delta
. BT 00 3205 HES Sesorar
3. water sample drawn from river
60 5000 SRS A3 S
3.
4. water sample drawn from glacier
SFHPDBB0 0B SRS D3 Ssarer
4.%

Question Number : 80 Question Id : 5244765480 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sm:Nd ratio i1s lowest 1 the rock
80O °¢363” SmNd DA)ED HZ0) ST SOT Fed?

Options :

1. Peridotite

. DO TE

2. @Gabbro
e
2. % 2
3. Monzonite
S 56
3% =
4.  Granite
TP
4. )

Question Number : 81 Question Id : 5244765481 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

St will be enriched in the mineral
80O TS TS St NNO0NE) O ©@YSOO?

Options :
1. Quartz
559,
1. %
2. Olivine
2,600
2. ®
3. Anorthite
S DS
3¢ =

4. hematite
EANVACH

Question Number : 82 Question Id : 5244765482 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Rb is least enriched in the mineral

80H DS TS Rb 550 T &0E0N0E?

Options :

1. Muscovite

S0 TS

2. K-felspar
K-2e>r))0
2. %
Biotite
ATOMEATGN)

LY ]

3. %

4. Quartz
550

EaEd

4.

Question Number : 83 Question Id : 5244765483 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Plate tectonics is a result of Earth’s internal heat engine, powered by
2 BTG ) 9O 250 W), 00ehteh 2765 BB, AO T @500 48
POCNAOD

Options :
1. the Sun.
QISR
1. %
2. gravity.
e s80
2. %

-

3. internal heat of the Earth

25 30E),. e00e50ed S

3. ¢

4. all of above

DI



Question Number : 84 Question Id : 5244765484 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Volcanic 1sland arcs are associated with

R DS 36 B 5D esBren BRAS D000 EOR G0EFan?

Options :

1. transform boundaries
HOSED HOTEVED

2. divergent boundaries

2 S DOTCED
2. %
3. ocean-continent convergence
. Qo[ H-DOCO FHons
4. ocean-ocean CDIIVEI'gEIlT boundaries
0| E-dM(ES DTS DBITCYED
4.

Question Number : 85 Question Id : 5244765485 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Oceanic and continental crust differ in

H3N(ES SHBOIN SFOE3TOS |5 BAS DBOT0N?
Options :

1. composition

SOV
1. %
2. density
0| Coeb
2. %
3. thickness
NGO
3. %

4. all of the above
25)

4.9



Question Number : 86 Question Id : 5244765486 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The forces generated inside Earth that cause deformation of rock as well as vertical and
horizontal movement of portions of Earth’s crust are called

20 FEersA8 DO 25T AZNEY () ANEY 237red Jensd SHBaAsw §edes
DAT0S E5DEen 257 S HE &5¢5185) HTDS FO Herd Eentharown. &
F50080 D) 907,

Options :
1. erosional forces
DA F5ven
1. %
2. gravitational forces
e 88 $50en
2. %
3. tectonic forces
BYIE F5pew
3.9
4. all of the above
252
4, ®

Question Number : 87 Question Id : 5244765487 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The principle of continents being in a buoyant equilibrium is called
DO BEOITE DS 30 GOT PR eI 90LTH?

Options :
1. subsidence
8§ eaeb
1.
2. 1sostasy
DR

2.¥



3. convection

L Era DB
4. rebound
B2 05
4, %

Question Number : 88 Question Id : 5244765488 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Nebular Hypothesis was put forward by:
2205670 DOEE I DI SNOCHZ BT H?

Options :
1. Jeans and Jeffery in 1925
1925 ¢5° 2S5 HOOKD B

1. %
2. Chamberlin and Moulton in 1904
1904 &S° ©r0220S O ST
2. %
3. Kant and Laplace
SP0E BT e VW
3.9

4. Lyttleton in 1938
1938 &5 HBDS

Question Number : 89 Question Id : 5244765489 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Planetesimal Hypothesis was put forward by:
T T TIVNO TR DO G°50° SDOCNZ HDYO:
Options :

1. Jeans and Jeffery in 1925
1925 5 288 HB0H) B2



2. Chamberlin and Moulton in 1904
1904 &S’ ©r020S OG5 SO

3. Kant and Laplace
5TOE SO € DD

4. Lyttleton in 1938
1938 &S O3OS

Question Number : 90 Question Id : 5244765490 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following statements are true:

8§08 (DELIDS DO VeB0?

Options :
1. jupitor has 67 moons
29530 )e38 67 TH0(CEN G Ko

1. %
2. Galilean moons are largest of Jupiter’s moons
23957183 TOILHOES’ TOOIHS TI0CHEN 93 DD
2. ®
3. Jupiter has the shortest day of the eight planets.
DANE (BT 23T )63 €963 550,65 825350 SR S0LTC.
3. %

4. all of the above
5

4.v

Question Number : 91 Question Id : 5244765491 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following statements are true:
808 (HELIOS DO D072

Options :



1. Venus is sometimes referred to as the “morming star” and “evening star”
DEOAE T "D SE, (50" sHOTATN "I ODO|eh OE, (0"
Q) DEV .

2. Omne day on Venus is longer than one year

DIFOA 2.8 522 2,8 H0DHEB IS0 0B DD

-

3. Venus is the hottest planet in the solar system with an average surface
temperature of 462°C (863°F)

DI DG 35906S” 9685065 AT GOT ((1:370. B IR
€505 58| (Sed 462°C (863°F)

3. %

4. all of the above
DAY

4.9

Question Number : 92 Question Id : 5244765492 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is true fact about sun:
§0H*¢3SS” DFHISA HBODD DB T°NH0?
Options :

1. The Sun rotates in the opposite direction to Earth

QFBI5C 25TPNE H5dDE AFS BXdiHeschd

1. %

2. Temperatures inside the Sun can reach 15 million degrees Celsius
JPA5 SHO G Hiesen 15 MEOODHS Bfie ) JaHHE
INOVSMOIAOW

2. %

-

3. The Sun generates solar winds.

DPE§ER) A DS esed €3 DR,



4, all of above

DAY

Question Number : 93 Question Id : 5244765493 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the 2nd most abundant element in the solar system:

8 55D 255 @965 50¢H DY €53) sNTOE0 DE:

Options :
1.H

1. *

2. He
2.

2
o

4 C

4. %

Question Number : 94 Question Id : 5244765494 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which 1s the most abundant metal 1n the universe?

D4 506’ eoehsHEOT ODOT S0 DEO?

Options :
l. Fe

1. ®

-2

. Mg
2.

. Ni

(W ¥]

3. %

4.7n

Question Number : 95 Question Id : 5244765495 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A day on mercury approximately equals to how many days on Earth?

206 11570 D 2.8 2 3 D)), FaredSd drH0?

Options :
1. 56 days
. 56 Teren
2. 57 days
L« 5702en
3. 58 days
58 Sezeen
3. %
4. 59 days

Lv 59 8eren

Question Number : 96 Question Id : 5244765496 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Radius of Sun is:
DS ABNE), IsrP0:

Options :

1. 605.700 km

1. ®

2. 795,700 kimm
2. %

3. 695,700 km
3.¢

4. 425.700 km
4. %

Question Number : 97 Question Id : 5244765497 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Factors that influence viscosity of lava is:
e ) N5 D2TDH0 W 90FEN:

Options :



1. silica content of lava

er® OEY O S0T0E

1. ®
2. temperature of lava
e’ay° 5ol | (ied
2. % i
3. gases dissolved in magma
SRS RS AN EN
3. %
4. all of above
Q)
4. ¢

Question Number : 98 Question Id : 5244765498 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Age of the earth can be calculated by which of the following methods:
23570 A30EY, SO &2 (8od HOBIES BEYOTHSTN).
Options :

1. Radiometric dating

., BacErDHes Beon
2. From rate of sedimentation
29T D DD N0
2. %
3. From rate of cooling
e ABO85E Bed HOG
4. all of the above
FALSEN)
4.

Question Number : 99 Question Id : 5244765499 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Some volcanic vents emit only water vapour with foul smelling sulphur compound are
known as:

COT* LIS SRS D)0 D IFI0E VeI @3B TS DA B
Q) @) DB 568 DeTen) ) aN0LTH?

Options :

1. hot springs

JE Q3 antien

2. fumaroles

50T )
2.
3. geysers
a3
3. %
4. mud pot
L w 2036 $00¢s

Question Number : 100 Question Id : 5244765500 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Volcano formed exclusively of pyroclast with a slope approximately 300 is termed as:
RTTD sDBAEN 3P 300 NS BB e0f) DB L0 & Yo

DEVNDCDENOD:
Options :

1. Cinder cone

200 Boo
1.+

2. Shield volcano
A @) DB 550

-

3. Composite volcano

o[ Fo €01 D €50



4. Spatter cone
)0 Boo



